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TN HERE = 1 59, 354, 071
AR - 3 A T = 1 788, 000
KR T =Y 1 788,000 | BXEEERIG (A 1) 1 =«
BR ARt ORI Bh) 1 X
BRIt (B 2B ) 1 X
MRE T = 1 36, 154, 688
EERABRE T 2 1 36, 154, 688 | [&EL 875, 000 m2
(i fR A =0)
(233 80, 800 m2
U8 #=0)
R 934, 000 m2
ON2))
kD) 78, 300 m2
FEOA - fRFiED 934, 000 m2
TR (PEBARRED 123, 000 m2
(B &R
TR (PEBARRED 529, 000 m2
Ck+-11)
TR (PEBARRED 282, 000 m2
CIEE=LID)
LEFEAET 2 1 2, 368, 898
CEAT = 1 387,198 |4kiR 4, 900 m2
PRARHEE FEARGATEA
TRABRIE T X 1 1,981,700 | {%A- {54 (EE) 1, 000 m2
AR )
AR (A 1, 000 m2
AT
PRARLEAT 1, 000 m2
(RATES)
IR 1,000 m2

-1- E bzl P E IR




il
W
>
%
T

TH4 | B0 6 FE A ) ER T4

TEHEX Sy - THE - R B {7 ¥ = & # il pall A iR
(F7r )
VU%ax ¢ 219 m3
(R (B - %€ - )
VU%ax ¢ 43 m3
(FRAR (R - #8)
VU%ax ¢ 50 m3
(7T (B - %€ - #8))
VU%ax ¢ 12 m3
(7T (R - #K)
ICEER = 1 4,595,118
EESFALER T = 1 4,595,118 | BA(EBES ALFR 956, 000 m2
HEFREE TN AR (N J4LER) 22 m3
WLy 6 m3
(RHD)
VU%ax ¢ 22 m3
(EIiEEZEY))
HEFER T 2 1 2,423,400
AT R T = 1 332,900 | HEFE O 1, 000 m3
e 1 =
B2 A couE
HRHEI T = 1 2,090, 500 |#ZHI 1, 000 m3
T A7 iy A 130, 000m3 A X
W R ES £
FEHA O-27) 1 X
+1 850, 000m3AT ;
b T 1 X
0 Cabl- EHIRY £5Te) ;
e 1 =
B2 A couE
A& B fiti e T = 1 1, 355, 360
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TA7 7 VMR AR S T = 1,355,360 | /&K 400 m2
(&AR)
FEIT9Y477 RC-30 AV /E 100mm ;
I 400 m2
HAEBRIET A (13) SiEE 40mm 1. dnAi
(1Y v SE84: F 0 JZ50mmlL )
OB P % 1 = 4, 880, 700
AL T =Y 4, 880, 700
i B PR R 1 = 2,202, 460
TAT 7 VMR AR S T = 2,202,460 | 3% 650 m2
(&AR)
FEIT9Y%77 RC-30 AV /E 100mm ;
EIE 650 m2
HAEBRIET A (13) SHEE 40mm 1. dnAi
(1Y v SE84: F 0 JZ50mmlL )
SN AL T =Y 2,917, 321
S BLERESE T Y 2,403,990 |InAafEE 1 =
IEALBREE T = 119,378 |IaAWEE 1 =
S BLERESE T Y 119,378 |IaAWEE 1 =
KBS R T (H %7)11) = 274,575 | AKBHEAS T SR 1 =
A Y 1, 668, 126
TEHERKT Y 606, 666
B - ARG T = 226, 500
-3 - E @ E P ER T




TH4 | B0 6 FE A ) ER T4

TERXSy - THE - R Hofr B & & il bl M EN

A R 2y 1 834, 960
BT EE =X 1 59, 354, 071
B RER =X 1 5, 602, 400
e TE: X 1 1, 057, 400

R F2y 1 397,400 | B R ERARAR Sy AR ST G5 2 1 F2y

(7" Wb =" 20t#%)

B BREYGEY, (3G L) =X 1 660, 000
Hom e (RFkL) =X 1 4, 545, 000
T =X 1 64, 956, 471
B FR =X 1 21,561, 000
N i =X 1 86, 517, 471
— R A =X 1 14, 932, 529
Tk =X 1 101, 450, 000
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